A0 6 4 EE Tl NS85 i WH R B B &6 % (2D 2) MR PIERE

(EBEITST R RERTHE / ML OES R LR TER N
T H B A
& 1T 8 R BRFEREDOB A NS ST6HFE9H30HET
[F%Ft7AA ] H
H © # 4
¥ 4
(ES T

B 22w g Ao B M D7 3 W R




THH /THE FER HAAT HE & K Mmoo Bl N 3
A6 AT HIRI FE e N L E s B R XS (20 2)
JH A SR S 2V 1 25, 810, 000
SRS I = 1 16, 779, 923
[EREN i = 1 11, 228, 197
[ERE NG 2 1 10, 309, 612
FH R A A
e = 1 396, 984
VEZERT D
E3 1 SRR YERL
S T
5] 1 SRR RN E TS
FRIT A
5] 1 a8 AN L
B L NG
] 1 TaYE RE AN E TS

Je bl 5 HE A )=




U | =1 A e
THH /THE FER HAAT % & A #ooom N 3
TR 2 Bl 2
HaHA, Fk =X 9,912, 628
ESE Bk A
70t Ll k-
# HRTAAE AREED A 130 nd A
130m 2L I
# HRTAAE AREEY A 200 nf A7
2003 2L |
# HRTAAE AREED A 300 nf A i
300 2L |
i FRITHE AREEY A 4501 AN
i FRITHE K& C 70 i A
70t Ll k-
i FRITHE K& C 130 i A1
130l |k
i HRIAE AiEEY C 200 1 i
i FRITAE FEREREM A 2000t AT

Je bl 5 HE A )=




HH T ]

HRR 2 B
FRTAE, FE

ARG

o)

B (B LS

ok

B57)

918, 585

< Ot

5,551, 726

Z DAt

5,551, 726

9, 030, 077

9, 030, 077

SE B A%

25,810, 000

Je bl 5 HE A )=




